cable clamp

Y

-

21.4mm minimum bore dia. with probe sensitive area at centre

?D

N
4/ =
\

—==— N
= | [ pzz=ogof 1 Hi
/
o . .
1.2mm to probe sensitive area 0 e
300.0
C.L. of Hall device
for M3 or #4 screw 27.0 is on C.L. of stem
o 17000049 Vo ) L
TRANSVERSE PROBE HOLDER _— - + R 8
for LPT-130 and LPT-230 probes SR N N
© Made in New Zealand by Group3 Technology Ltd n —

dia. 4.8mm cable

Materials:

stem:

black anodised aluminium

cable clamp:
plastic

SCrews:
brass

M/ 14.0mm to probe sensitive area

\ clamp screw

Issue

Change

Date Title:

LPT PROBE HOLDER #17000049
FUNCTIONAL DIMENSIONS

Drawn By:

B. McG.

Date:

12-Apr-02

Dimensions:

Scale:

NTS

Drawing No:

17000049

Copywrite © 1997, Group 3 Technology Ltd.

L]




cable clamp

/ N
o

v/ .
@ — = || ezz=zzaof v \ | J'—FU"'BEP/
/ \\ '

1.2mm to probe sensitive area o) .

24.8mm minimum bore dia. with probe sensitive area at centre

300.0
1.8mm to sensitive area
for M3 or #4 screw 27.0 from C.L. of stem
o 1700000 | | | U === 5
TRANSVERSE PROBE HOLDER + I p=
\4;3 for LPT-141 and LPT-231 probes = = } &
© Made in New Zealand by Group3 Technology Ltd | | | N N )
[CrT
dia. 4.8mm cable M/ 15.0mm to probe sensitive area \ clamp screw
I
Materials:
stem:
black anodised aluminium
cable clamp:
. Issue Change Date Title:
plastic . LPT PROBE HOLDER #17000050
Screws:
brass FUNCTIONAL DIMENSIONS
Drawn By: B. McG. Date: 12_Apr_02 Drawing No:
Dimensions: Scale: NTS 17000050
Copywrite © 1997, Group 3 Technology Ltd. II__




cable clamp

s

[ 1]
—_— T

20.6mm minimum bore dia. with probe sensitive area at centre

==

]

300.0

7.0

5.82mm to probe sensitive area

o 17000081
TRANSVERSE PROBE HOLDER

for all MPT series probes
© Made in New Zealand by Group3 Technology Ltd

dia. 4.8mm cable

Materials:
stem:

30% glass reinforced Noryl ® SE-1-GFN3
Colour: grey opaque

for M3 or #4 screw

25.0

C.L. of

»//A\‘\\
(

)

'
\ '

Hall device

ison C.L. of stem

|

17.0

N 0o
clamp screw ’l

1.5mm to probe sensitive area

Cab'e C|am . Issue Change Date Title:
‘mp MPT PROBE HOLDER #17000081
p| astic 2 Material specification added 17-July-97
Screws: Material specification added for clamp and screws 16-April-02 F U N CT I O NAL D I M E N S I O N S
3 ensitive area now dimensioned from base of stem 6-April-02
nylon Seret ‘ crombese o e Drawn By: B. McG Date: 28-Aug-96 Drawing No:
Dimensions: Scale: NTS 17000081
Copywrite © 1997, Group 3 Technology Ltd. ||_
—




2 x cable clamps

28.7mm minimum bore dia. with probe sensitive area at centre

AXIAL PROBE HOLDER 17000091

for LPT-130 and LPT-230 probes
Made in New Zealand by Group3 Technology Ltd

s e

&
—

\ 3 x mounting screws: M3

head block

C.L. of Hall device is on C.L. of stem

dia. 4.8mm cable stem: 9.5 x 9.5 leaf springs
T—— T
= B =& —-—1-—
o = [
|
11.25 2.5
94.0 1.0mm to probe sensitive area
194.0
294.0
311.25
PROBE SEATING PLANE
Materials:
stem, head block, cable clamps:
black anodised aluminium — — —
SCrews: 2 " LPT PROBE HOLDER #17000091
brass
leaf springs: FUNCTIONAL DIMENSIONS
beryllium copper OBy B VeGP 11-Apr-02 Drawing No:
Dimensions: Scale: NTS 17000091

Copywrite © 1997, Group 3 Technology Ltd.

L




2 x cable clamps 32.8mm minimum bore dia. with probe sensitive area at centre

AXIAL PROBE HOLDER 17000092 % %

@ @ for LPT-141 and LPT-231 probes
Made in New Zealand by Group3 Technology Ltd

S
\ 3 x mounting screws: M3 head block

C.L. of Hall device is on C.L. of stem

dia. 4.8mm cable stem: 9.5x95 leaf springs

11.25

25

1.0mm to probe sensitive area

194.0

294.0

311.25

PROBE SEATING PLANE

Materials:
stem, head block, cable clamps:

black anodised aluminium

Issue Change Date Title:

SCrews: LPT PROBE HOLDER #17000092
brass
leaf springs: FUNCTIONAL DIMENSIONS
beryllium copper Drawn By g vieG. % 10-Apr-02 Drawing No:
Dimensions: mm Scale: NTS 17000092
Copywrite © 1997, Group 3 Technology Ltd. ||__




30.3mm minimum bore dia. with probe sensitive area at centre

3 x clamps

P

" . e e

\? = = JL{ ( ol-1e \
\ \ /

dia. 4.8mm cable 3.0mm to probe sensitive area . e

)
-

—

C

C.L. of Hall device
is on C.L. of stem

stem head block

O 17000100 o i
n o
AXIAL PROBE HOLDER o —-—- -
for all MPT series probes < T ( ¢ o
o Made in New Zealand by Group3 Technology Ltd o
5.2 4.9 approx.
I
280.2 0.62mm to probe sensitive area

PROBE SEATING PLANE

Materials:
stem, head block:

30% glass reinforced Noryl ® SE-1-GFN3

Colour: grey opaque

c|ar;||c§8:tic S =" MPT PROBE HOLDER #17000100
SCrews: FUNCTIONAL DIMENSIONS
nylon Drawn By: B McG. Date: 15-Apr-02 Drawing No:
Dimensions: mm Scale: NTS 17000100
Copywrite © 1997, Group 3 Technology Ltd. ||__




Dia. 20 x 10

B Represents: active area of
Group3 MPT Hall Probe
Each Element: 0.5mm x 1.0mm

For custom mounting requirements
or probe holder length
contact Group3

Materials:
holder:
part-no. 17000112:
Aluminium
part-no. 17000112n:
30% glass reinforced Noryl ® SE-1-GFN3
clamps:
plastic
SCrews:
nylon

no

Issue

Change

Date

Title:

3-AXIS HALL PROBE HOLDER
FUNCTIONAL DIMENSIONS

Drawn By: Date:

B.McG. 17-Apr-02

Dimensions: Scale:
mm

NTS

Drawing No:

17000112

Copywrite © 1997, Group 3 Technology Ltd.

L]




